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2. 61 Ho  bflM?J  Y ~~:Bnlalranbl~~bauEln^aulu  ha.  II = 10, TI = .10 aln~l~l~

Yf=dUlU P ( Y  B5)  =  l-P(Y G4) = l-.95683  = .04317  < .05

Kdiubvm^anqaAo  y 2 5

P(Y 2 4) = 1 - P(Y Q 3) = 1 - .86705  = .13295  > .05
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z=~-Po-985-1000=~15= - 1.5
O/G loo/v-Ei lo
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3. mmisw%lad n = 100, x = .5

P(Y > 58) = 1 - P(Y Q 57) = 1 - .93339 = .06661 > .05

P(Y > 59) = 1 - P(Y < 58) = 1 - .97156 = .02844 = u,,

L3lX:nJ@tUi  Ho  6 y >59
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45.63, 45.82, 45.77, 45.80, 46.21, 46.07, 46.16, 45.91

45.87, 46.03, 46.16, 45.92, 45.76, 45.89, 45.85, 46.16

45.80, 45.79, 45.86, 46.10, 45.88, 45.91, 45.87, 45.%

45.99
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1 1 2 1 0

2 8 1 2

3 1 5 1 2

4 8 7

5 1 6 1 6

6 2 0 2 2

I 1 8 2 0

8 1 9 1 0

9 1 5 1 2

1 0 2 7 2 5

1 1 1 1 1 6

1 2 2 4 2 1

1 3 1 7 1 7

1 4 1 9 1 5

I5 1 3 1 7

1 6 9 1 0

1 7 1 1 1 0

1 8 2 6 7

+

+

+

0

+

+

+

+

0

+

+

+
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P(T d 8) = .0244  < .025  + klNl?tlqfl,&o  T < 8

P ( T d 9 ) = .0322  > ,025

1; tl = 8

tz = n(n
2

- t1

= 10(10+1)-8
2
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1 6.63

-2 6.59

-3 6.46
+

4 6.49

-5 6.45

-6 6.41

-7 6.38

8 6.26 ’

9 6.09

-1 0 5.99

-1 1 5.92

1 2 +5.93

1 3 5.83

-1 4 5.82
+

1 5 5.95

1 4

I 5

1 6

-1 6 5.91 5.l

1 7 5.81
7

1 8 5.64

-1 9 5.51
- ,

2 0 5.31
+ I’ 8

2 1 5.36

2 2 5.17
9

2 3 5.07

2 4 4.97
+

2 5 5.00
I

1 0

’2 6 5.01 -

2 7 4.85
1 1

2 8 4.79

-2 9 4.73

3 0 4.76 + I 1 2
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Zdf = 40

6(40)
rs = ’ - 5(25 - 1)

=  l - 2

= -1
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Ho : p = 0 ttYUdWlSiBtQIaittA~~ai?lii~  T i)::dfmttmtwttw  t n”ao  df = n - 2
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X : 10 1 3 1 6 1 9 2 5

Y :‘34 4 0 4 5 5 1 117
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n+.l 1 ni+l 2 ni=$ 3

3 1 6 6

1 4 5 9

6 4 1 0

7 1 2 1 1

2 1 3 1 5
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